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B8 —/ ROS package

B, BATEAIE—ROS package, B ZFRATHINT Ao 1% AL @IS topic K fimessage
[FARIS . ROSEA W& & catkinFe KiZ TAE.

3 3 TAE 2 ) AR+ H 3%
cd catkin ws/src
SNJE L R 2 07 TAEE (package) :

catkin create pkg basic _ros_service std msgs rospy roscpp

SRIG, HATfEcatkin ws/src/basic ros service HpHAIE "N H, & Nsrv. 1%
stvF HR S AR 2@ RS . BN Zsrv+ H 3%, 88 —4~4 AProduct. srvi 3L
B (OB ZATEE, (B RBEZ WA sry), ¥ IR L UTE NZ SR N 2 -

floatb4 a
floatb4 b

float64 product

AT AN RUE SN, =AM g, Ja—NF R R BUE . 2R 555 SO AT AT
LA SCE il R N\ B s R 55

AR Usrey Hax, W, BUERIAEZAE:



USERNAME/catkin ws/src/basic ros service/src

fFiZsrc T HEN, EAGIE —"pythonfE FProductServer. py. HANEF 4 7] LEUE = 44
S

PAN 2 R RE 5 B R 454 -

catkin ws
- build
- devel
- src

— basic_ros_service

CMakeLists. txt
— package. xml

— include {This directory contains nothing}

(MakeLists. txt
- src

— ProductServer. py
- srv

— Product. srv

DAEBAN R GG BBy H e 5 2 Ferospy Kstd_msgs.

#!/usr/bin/env python
from future import print function

from basic_ros_service. srv import Product, ProductResponse



import rospy
import math
def product func(a, b):
return a%b
def compute(req): # Find the product from the inputs req.a and req.b and return the product.
product = product func(req.a, regq.b)
print ("Returning [%s]” % (product))
return ProductResponse (product)
def product server(): # Start the node and server.
rospy. init node (" basic ros service’)
s = rospy. Service( basic ros service’, Product, compute)
print ("Ready to compute.”)
rospy. spin ()
if name ==" main ”:

product server ()

e bL AL )R, R EA A AT A

sudo chmod +x ProductServer. py

T HFCMakeLists. txt, AT pythonfIA i NCMakeLists. txtidE 4L B U R . wntbbfd
FcatkinZ g FEFRATHIEIA

include directories(
# include
$ {catkin INCLUDE DIRS}

src/ProductServer. py



)

IR, FRATTHE EAESIRATISRV IO W gn 3, AL % P A A
CMakeLists. txtH:

#tt Generate services in the ’srv’ folder
add service files(
FILES
Product. srv
)
## Generate added messages and services with any dependencies listed here
generate_messages (
DEPENDENCIES
std msgs
)

[FIEf, fF find package #4388 AR i I :

find package (catkin REQUIRED COMPONENTS
TOSCpp
TOSpy
std msgs
message_generation
)
AT 75 B IR I N A package. xml A% A1 A& 24 AL B TR .
<build depend>message generation</build depend>
<{exec depend>message runtime</exec depend>

AR Al catkin wsHE{T9R1%E, iafTcatkin make. ZRiF5ebl)EigfTLL Fand:



source devel/setup. bash

BR B, MK E D TAE A58 T o
Rt T BITEFE

JABIROS Master

roscore

BAE, FTHF—ANH%eu, B47 L s

rosrun basic_ros_service ProductServer. py

PRAT B IBAT R

rosnode list

AT W, basic ros service™ mio

A MRS

rosservice list

] Whasic ros servicefE/F M service f—Uid KRS, NI 21T MRS -
rosservice call /basic ros service “a: 2.0 b: 2.0”

R WREIL A A%, FIRGETABRE, ROSZ HENIRRT2 -

TATT WA EER 4.0,

HEFIHEESR

P PL N AT N4 ProductClient. pys
#!/usr/bin/env python
from future import print function

import sys



import rospy
from basic ros service. srv import *
def product client(a, b):
rospy.wait for service( basic ros service’ ) # Find our service
try:
# Connect to service
solver = rospy. ServiceProxy( basic ros service’, Product)
respl = solver(a, b) # Make a request
return respl.product # Return the result
except rospy. ServiceException as e:
print (“Service call failed: %s”%e)
def usage():
return “%s [a b] %sys. argv[0]
if name ==" main ”:
if len(sys.argv) ==
a = float (sys.argv[1l])

b

float (sys. argv[2])
else:
print (usage ()
sys. exit (1)
print ("Requesting %s*%s”%(a, b))
print ("%s * %s = %s”%(a, b, product client(a, b)))

Ty tholll A5, BRI SR BN TTHT . 485 8 BLRTIZ ToubLisher s 1 —FEiE
e

rosrun basic_ros_service ProductClient.py 2 2
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message. #Ja, VRMIREN T A& CMakeLists. txt flpackage. xml SC1F.



